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QUESTION 1
A customer has recently acquired another company that is located less than 3 km from their current main location. Both
locations use HPE B-Series products in their storage environment. The customer needs to merge the 2 locations

together

while still using the current WAN and networking infrastructure at both locations. They need to keep their initial cost
down until they are able to redesign both networking infrastructures.

Which protocol should be incorporated when providing a proposal to meet the customer needs?
A.ISCSI

B. CWDM

C. DWDM

D. FCIP

Correct Answer: B

QUESTION 2

A customer needs a data recovery solution for their HPE 3PAR array. They have the following requirements: RPO
needs to be within three hours RTO needs to be within three hours There is no need for offsite data archive They will
have a limited maintenance window

Which solution meets all of the customer needs?

A. HPE 3PAR StoreServ with RMC

B. HPE StoreOnce

C. HPE StoreAll

D. HPE StoreEver

Correct Answer: A

QUESTION 3

A customer needs to a multi-site environment where the entire inter-site transmission will be encrypted. Which products
support this feature without additional licenses? (Select two.)

A. HPE 3PAR
B. HPE StoreOnce VSA

C. HPE Nimble arrays with SmartReplicate (remote replication)
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D. any B-series 16Gb SAN Switch
E. HPE StoreOnce hardware appliance

Correct Answer: DE

QUESTION 4

How does the HPE Nimble Storage product strategy support a customer\\'s investment protection requirements for
today and the future?

A. by supporting replication with arrays from other vendors

B. by supporting the implementation of third party cache, spinning media, and flash media
C. by supporting replication between current and previous-generation array models

D. by supporting the repurposing of obsolete array controllers as high-density servers

Correct Answer: B

QUESTION 5

A customer has two HPE 3PAR arrays which are using Remote Copy and AO. The customer notices a large portion of
the data is residing in the NL tier of the secondary array, while all tiers are utilized evenly on the primary array. Which
statement about the secondary array behavior is true?

A. The NL CPG in the secondary array is larger

B. This is normal behavior for AO

C. There is an improper AO configuration on the secondary array

D. AO should not be used with Remote Copy configurations

Correct Answer: B
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